

Proof of Odds form of Bayes Theorem.

2021.03.28

Bill Garland

$$P(A|B) = \frac{P(A) P(B|A)}{P(B)}$$

$$O(A|B) = \frac{P(A|B)}{1 - P(A|B)}$$

$$= \frac{P(A) P(B|A)}{P(B)} \times \frac{1}{1 - \frac{P(A) P(B|A)}{P(B)}}$$

$$= \frac{P(A) P(B|A)}{P(B) - P(A) P(B|A)}$$

$$= \frac{P(A) P(B|A)}{P(B) - P(A) P(B|A)}$$

$$= \frac{P(A) P(B|A)}{P(B) - P(A) P(B|A)}$$

$$\frac{P(A) P(B|A)}{P(B) - P(A) P(B|A)}$$

$$= \frac{P(A) P(B|A)}{P(B) - P(A) P(B|A)}$$

$$= \frac{P(A) P(B|A)}{P(B) - P(A) P(B|A)}$$

$$= O(A) \frac{P(B|A)}{P(B|\bar{A})} \quad \text{QED}$$

Note: Odds:  $O = \frac{P}{1-P} \Leftrightarrow P = \frac{O}{1+O}$